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Color threshold formula LABJNDS 1985 for NW achromatic colours
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a  = x / y     an = xn / yn     b = − 0,4 z / y     bn = − 0,4 zn / yn
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n = D65 or  A (surround)

Y  = ( Y1 + Y2 ) / 2       ∆ Y = Y1 − Y2       ∆ a = a1 − a2       ∆ b = b1 − b2

pc,NW = cab / cab,NW s = 0,0170      q = 0,0058      t = 1,0

a0 = 1,0      b0 = 1,8     Y0 = 1,5    surround D65 

a0 = 1,0      b0 = 1,7     Y0 = 1,0    surround A

Just noticeable difference of complementary (c) NW colours with:

(aW − an)YW=(aN − an)YN;    (bW − bn)YW=(bN − bn)YN;    cab,WYW=cab,NYN

∆YW  = const ( s + q ·YW
t
 ) / Y0 in luminance direction WN

∆cab,W ·YW = const ( s + q ·YW
t
 ) / Y0 in any chromaticity direction cab

∆cab,N ·YN  = const ( s + q ·YN
t
 ) / Y0

and for the NW purity pc,NW=0


